
6Ò+511e�635È9<

+/$9,ý.$�)2508/È5$
9êEHU�W\SX�V~KUQQHM�VSUiY\
6~KUQQi�VSUiYD�R�]POXYiFK�SRGĐD������RGV�����D���
2EGRELH
âWYUĢURN���,,��ãWYUĢURN
5RN�������

2'',(/�,��9(5(-1é�2%67$5È9$7(ď
,�������1È=29�$�$'5(6<

&UHDWLYH�,QGXVWU\�.RãLFH��Q�R�
,ý2�����������
.XNXþtQRYD�����������.RãLFH���PHVWVNi�þDVĢ�-XK
6ORYHQVNR
.RQWDNWQi�RVRED��,QJ��/DGLVODYD�-XKiV]RYi
7HOHIyQ����������������
(PDLO��RIILFH#FLNH�VN
:HERYp�VtGOR��LQWHUQHWRYi�DGUHVD�

2'',(/�,,��35('0(7
,,�������52=6$+�2%67$5È9$1,$

,,���������'UXK�]iND]N\
6~KUQ\

2'',(/�9��=$'$1,(�=È.$=.<
�
ýDVĢ���

9�������
=iND]ND�þ������������
1i]RY���$XGLW�~þWRYQHM�]iYLHUN\�]D�URN������QD�]iNODGH�]POXY\���=0/�����]R�GĖD���������
2GND]�QD�]YHUHMQHQ~�]POXYX���KWWSV���ZZZ�FLNH�VN�ZS�FRQWHQW�XSORDGV�GRFV�ID���������������SGI"[�����
'UXK�]iND]N\���6OXåE\

9�������=$'$1,(�=È.$=.<
9���������'iWXP�X]DWYRUHQLD�]POXY\

����������
9���������,QIRUPiFLH�R�SRQXNiFK

3RþHW�RVORYHQêFK�XFKiG]DþRY����
3RþHW�SULMDWêFK�SRQ~N����

9���������1i]RY�D�DGUHVD�GRGiYDWHĐD
$0.�DXGLW��V�U�R�
,ý2�����������
'UHYiUVND�������������6SLãVNi�1RYi�9HV��
6ORYHQVNR
'RGiYDWHĐRP�MH�063���ÈQR

9���������,QIRUPiFLH�R�KRGQRWH�]iND]N\�þDVWL��EH]�'3+�
&HONRYi�KRGQRWD�]iND]N\�þDVWL����������(85�EH]�'3+
�
ýDVĢ���

9�������
=iND]ND�þ������������
1i]RY���YêYRM�ZHERYHM�DSOLNiFLH�:3��*DPH�RI�7UD&(V�QD�]iNODGH�]POXY\�þ����=0/�����]R�GĖD�����������Y�UiPFL
SURMHNWX�7UD&(V�
2GND]�QD�]YHUHMQHQ~�]POXYX���KWWSV���ZZZ�FLNH�VN�ZS�FRQWHQW�XSORDGV�GRFV�ID��������SGI"[�����
'UXK�]iND]N\���6OXåE\

9�������=$'$1,(�=È.$=.<
9���������'iWXP�X]DWYRUHQLD�]POXY\

����������
9���������,QIRUPiFLH�R�SRQXNiFK

3RþHW�RVORYHQêFK�XFKiG]DþRY����
3RþHW�SULMDWêFK�SRQ~N����

9���������1i]RY�D�DGUHVD�GRGiYDWHĐD
3Q��6UO
,ý2���,7�����������
9LD�2ORQD�������������0LOiQR

���



7DOLDQVNR
'RGiYDWHĐRP�MH�063���1LH

9���������,QIRUPiFLH�R�KRGQRWH�]iND]N\�þDVWL��EH]�'3+�
&HONRYi�KRGQRWD�]iND]N\�þDVWL����������(85�EH]�'3+
�
ýDVĢ���

9�������
=iND]ND�þ������������
1i]RY���=KRWRYHQLH�D�RGRY]GDQLH�GLHOD���,]ED�PHGLiOQHKR�XPHQLD�Y�KRWHOL�<DVPLQ��7KH�,QYLVLEOH�+RWHO��QD�]iNODGH
]POXY\�þ����=0/�����]R�GĖD���������
2GND]�QD�]YHUHMQHQ~�]POXYX���KWWSV���ZZZ�FLNH�VN�ZS�FRQWHQW�XSORDGV�GRFV�ID��������SGI"[�����
'UXK�]iND]N\���6OXåE\

9�������=$'$1,(�=È.$=.<
9���������'iWXP�X]DWYRUHQLD�]POXY\

����������
9���������,QIRUPiFLH�R�SRQXNiFK

3RþHW�RVORYHQêFK�XFKiG]DþRY����
3RþHW�SULMDWêFK�SRQ~N����
3RþHW�SRQ~N�GRUXþHQêFK�RG�PDOêFK�D�VWUHGQêFK�SRGQLNRY����

9���������1i]RY�D�DGUHVD�GRGiYDWHĐD
.23$��V�U�R����,QJ��DUFK��âWHIDQ�3DFiN
,ý2�����������
âROWpVRYHM������������.RãLFH
6ORYHQVNR
'RGiYDWHĐRP�MH�063���ÈQR

9���������,QIRUPiFLH�R�KRGQRWH�]iND]N\�þDVWL��EH]�'3+�
&HONRYi�KRGQRWD�]iND]N\�þDVWL��������(85�EH]�'3+

2'',(/�9,��'23/1.29e�,1)250È&,(
9,�������'È780�2'26/$1,$�72+72�2=1È0(1,$

����������

���



6Ò+511e�635È9<

+/$9,ý.$�)2508/È5$
9êEHU�W\SX�V~KUQQHM�VSUiY\
6~KUQQi�VSUiYD�R�]iND]NiFK�V�Qt]N\PL�KRGQRWDPL
2EGRELH
âWYUĢURN���,,��ãWYUĢURN
5RN�������

2'',(/�,��9(5(-1é�2%67$5È9$7(ď
,�������1È=29�$�$'5(6<

&UHDWLYH�,QGXVWU\�.RãLFH��Q�R�
,ý2�����������
.XNXþtQRYD�����������.RãLFH���PHVWVNi�þDVĢ�-XK
6ORYHQVNR
.RQWDNWQi�RVRED��,QJ��/DGLVODYD�-XKiV]RYi
7HOHIyQ����������������
(PDLO��RIILFH#FLNH�VN
:HERYp�VtGOR��LQWHUQHWRYi�DGUHVD�

2'',(/�,,��35('0(7
,,�������52=6$+�2%67$5È9$1,$

,,���������'UXK�]iND]N\
7RYDU\

2'',(/�9��=$'$1,(�=È.$=.<
9�������

=iND]ND�þ������������
1i]RY���.UXKRYê�VNODGDFt�VW{O�)(502%�%,6752�)ROGLQJ�7$%/(�'����SULHP����FP�����NV�VYHWORVLYê����NV�ELHO\���VNODGDFLD
VWROLþND�)(502%�%,6752�0(7$/�)ROGLQJ�&KDLU����NV�VYHWORVLYp����NV�ELHOH�
2GND]�QD�]YHUHMQHQ~�]POXYX���KWWSV���ZZZ�FLNH�VN�ZS�FRQWHQW�XSORDGV�GRFV�ID��������SGI"[�����

9�������=$'$1,(�=È.$=.<
9���������'iWXP�X]DWYRUHQLD�]POXY\

����������
9���������,QIRUPiFLH�R�SRQXNiFK

3RþHW�RVORYHQêFK�XFKiG]DþRY����
3RþHW�SULMDWêFK�SRQ~N����

9���������1i]RY�D�DGUHVD�GRGiYDWHĐD
,7$/�75$'(��6.�V�U�R�
,ý2�����������
5i]XVRYD������������.RãLFH
6ORYHQVNR
'RGiYDWHĐRP�MH�063���ÈQR

9���������,QIRUPiFLH�R�KRGQRWH�]iND]N\�þDVWL��EH]�'3+�
&HONRYi�KRGQRWD�]iND]N\�þDVWL����������(85�EH]�'3+

2'',(/�9,��'23/1.29e�,1)250È&,(
9,�������'È780�2'26/$1,$�72+72�2=1È0(1,$

����������

���


